



परमाणु ऊर्जा शिक्षण संस्था

(परमाणु ऊर्जा विभाग का स्वायत्त निकाय, भारत सरकार)

ATOMIC ENERGY EDUCATION SOCIETY

(An autonomous body under Department of Atomic Energy, Govt. of India)

E - CONTENT DEVELOPED

BY

AECS NO. 3, TARAPUR

CLASS XII (MATHEMATICS)

CHAPTER - 09

DIFFERENTIAL EQUATIONS

MODULE - 3/3

METHODS OF SOLVING FIRST ORDER, FIRST DEGREE DIFFERENTIAL EQUATIONS

- **(3) Linear differential equations:**

- A differential equation of the form

$$\frac{dy}{dx} + P y = Q$$

where, P and Q are constants or functions of x only, is known as a first order linear differential equation.

- Examples: (i) $\frac{dy}{dx} + 2 y = e^{5x}$

$$(ii) \frac{dy}{dx} + \frac{1}{x} y = \text{Cos } x$$

$$(iii) \frac{dy}{dx} + y \sec x = 7$$

How to solve the first order linear differential equation of the type $\frac{dy}{dx} + P y = Q$.

- Given linear differential equation is

$$\frac{dy}{dx} + P y = Q \text{ -----(i)}$$

Multiply both sides of the equation (i) by a function of x say $g(x)$,

$$g(x) \cdot \frac{dy}{dx} + P \cdot g(x) \cdot y = Q \cdot g(x) \text{ -----(ii)}$$

Choose $g(x)$ in such a way that R.H.S. of (ii) i.e. $Q \cdot g(x)$ becomes a derivative of $y \cdot g(x)$.

$$\Rightarrow g(x) \cdot \frac{dy}{dx} + P \cdot g(x) \cdot y = \frac{d}{dx} (y \cdot g(x))$$

Contd.

- $$\Rightarrow g(x) \cdot \frac{dy}{dx} + P \cdot g(x) \cdot y = g(x) \cdot \frac{dy}{dx} + y \cdot g'(x)$$
$$\Rightarrow P \cdot g(x) = g'(x)$$
$$\Rightarrow P = \frac{g'(x)}{g(x)}$$

Integrating both sides with respect to x , we get

$$\int P dx = \int \frac{g'(x)}{g(x)} dx$$
$$= \log(g(x))$$
$$g(x) = e^{\int P dx}$$

- On multiplying the equation (i) by $g(x) = e^{\int P dx}$, the L.H.S. becomes the derivative of some function of x and y .

Contd.

- This function $g(x) = e^{\int P dx}$ is called *Integrating Factor (I.F.)* of the given differential equation.

Substituting the value of $g(x)$ in equation (ii), we get

$$e^{\int P dx} \cdot \frac{dy}{dx} + P \cdot e^{\int P dx} \cdot y = Q \cdot e^{\int P dx}$$
$$\frac{d}{dx} (y \cdot e^{\int P dx}) = Q \cdot e^{\int P dx}$$

Integrating both sides with respect to x , we get

$$y \cdot e^{\int P dx} = \int (Q \cdot e^{\int P dx}) dx + C$$

Which is a general solution of the DE (i)

∴ We can use Solution formula as: $y \cdot (I.F.) = \int Q (I.F.) dx + C$

Working steps to solve first order linear differential equation:

- (i) Write the given differential equation in the form

$$\frac{dy}{dx} + P y = Q$$

- (ii) Find the Integrating Factor,

$$I.F = e^{\int P dx}$$

- (iii) Write the solution formula of the given differential equation as:

$$y \cdot (I.F) = \int Q \cdot (I.F) dx$$

- which gives the general solution after integration on right hand side.

EXAMPLES:

(1) Find the general solution of the differential equation

$$\frac{dy}{dx} + 4y = e^{-3x}$$

• Ans: Given DE is $\frac{dy}{dx} + 4y = e^{-3x}$

Clearly this DE is in linear form ($\frac{dy}{dx} + P y = Q$)

$$P = 4, \quad Q = e^{-3x}$$
$$I. F. = e^{\int p dx} = e^{\int 4 dx} = e^{4x}$$

Solution formula, $y \cdot (I.F) = \int Q \cdot (I.F) dx$

$$y \cdot e^{4x} = \int e^{-3x} \cdot e^{4x} dx$$
$$= \int e^x dx$$
$$= e^x + C$$

$$y \cdot e^{4x} = e^x + C$$

which is a general solution of the given DE.

(2) Find the general solution of the differential equation

$$\cos^2 x \cdot \frac{dy}{dx} + y = \tan x, \quad \left(0 \leq x < \frac{\pi}{2}\right)$$

• Ans: Given DE can be written as $\frac{dy}{dx} + y \sec^2 x = \sec^2 x \cdot \tan x$,

Which is a linear DE of the form $\frac{dy}{dx} + P y = Q$, $P = \sec^2 x$, $Q = \sec^2 x \cdot \tan x$,

$$\text{I. F.} = e^{\int p dx} = e^{\int \sec^2 x dx} = e^{\tan x}$$

Solution formula, $y \cdot (\text{I.F.}) = \int Q \cdot (\text{I.F.}) dx$

$$y \cdot e^{\tan x} = \int \sec^2 x \cdot \tan x \cdot e^{\tan x} dx$$

$$\text{Put } \tan x = t \Rightarrow \sec^2 x dx = dt, \quad y \cdot e^{\tan x} = \int t \cdot e^t dt$$

Integrating by part, $y \cdot e^{\tan x} = t \cdot e^t - \int e^t dt = t \cdot e^t - e^t + C$

$$y \cdot e^{\tan x} = \tan x \cdot e^{\tan x} - e^{\tan x} + C \quad \text{or} \quad y = (\tan x - 1) + C e^{-\tan x}$$

(3) Find the particular solution of the differential equation

$$\frac{dy}{dx} - 3y \cot x = \sin 2x, \text{ given that } y = 2, \text{ when } x = \frac{\pi}{2}.$$

• Ans: Given DE is in linear form $(\frac{dy}{dx} + P y = Q)$,

$$P = -3 \cot x, \quad Q = \sin 2x$$

$$I. F. = e^{\int p dx} = e^{\int -3 \cot x dx} = e^{-3 \log \sin x} = (\sin x)^{-3}$$

$$\text{Solution formula,} \quad y \cdot (I.F) = \int Q \cdot (I.F) dx$$

$$y \cdot (\sin x)^{-3} = \int \sin 2x \cdot (\sin x)^{-3} dx$$

$$= \int \frac{2 \sin x \cos x}{\sin^3 x} dx = 2 \int \operatorname{Cosec} x \cdot \cot x dx$$

$$y \cdot (\sin x)^{-3} = -2 \operatorname{Cosec} x + C \text{ ----- (i)}$$

$$\text{Put } y = 2 \text{ \& } x = \frac{\pi}{2} \text{ in (i),} \quad 2 = -2 + C, \quad C = 4$$

$$\text{From (i)} \quad y \cdot (\sin x)^{-3} = -2 \operatorname{Cosec} x + 4,$$

$$y = -2 \sin^2 x + 4 \sin^3 x \text{ which is particular sol.}$$

(4) Find the equation of a curve passing through the origin given that the slope of the tangent to the curve at any point (x, y) is equal to the sum of the coordinates of the point.

- Ans: The slope of the tangent to the curve at any point $(x, y) = \frac{dy}{dx}$

According to question $\frac{dy}{dx} = x + y \quad \Rightarrow \quad \frac{dy}{dx} - y = x$

Which is a linear DE of the form $\frac{dy}{dx} + P y = Q$, $P = -1$, $Q = x$

$$\text{I. F.} = e^{\int p dx} = e^{-\int dx} = e^{-x}$$

Solution formula, $y \cdot (\text{I.F.}) = \int Q \cdot (\text{I.F.}) dx$

$$\begin{aligned} y \cdot e^{-x} &= \int x e^{-x} dx \\ &= -x e^{-x} + \int e^{-x} dx \\ &= -x e^{-x} - e^{-x} + C \quad \text{----- (i)} \end{aligned}$$

This curve passes through origin, put $x = 0$, $y = 0$ in (i), $C = 1$

$$y \cdot e^{-x} = -x e^{-x} - e^{-x} + 1 \quad \Rightarrow \quad x + y + 1 = e^x$$

which is required equation of curve